JARNÍ POČÍTÁNÍ
Vypočti příklady, přiřaď písmenka a najdi 3 slova, která patří k jaru.
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	(4 . 4) - (49 : 7) =
	L

	(36 : 6) + (42 : 7) =
	O

	(14 : 7) + (25 : 5) =
	V

	17 – (24 : 6) =
	N

	11 – (24 : 8) =
	E

	(20 : 5) + (35 : 5) =
	K

	(2 . 9) – (14 : 7) =
	E

	(21 : 3) + (48 : 6 ) =
	C

	(40 : 5) + (8 : 4) =
	I

	(2 . 6) + (16 : 8) =
	O
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	(7 . 2) – 5 =
	Ě

	(2 . 5 ) + 4 =
	A

	11 – (21 : 7) =
	N

	15 – (20 : 5) =
	E

	15 – (56 : 7) =
	S

	(8 . 2 ) – 3 =
	K

	(3 . 8) – (2 . 7) =
	Ž

	3 + (81 : 9) =
	N
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	3 + (28 : 7) =
	Á

	2 + (12 : 6) =
	O

	(25 : 5) + (45 : 9) =
	A

	10 – (36 : 9) =
	L

	(4 . 2) – (30 : 6) = 
	P

	(2 . 6) – (20 : 5) =
	Z

	12 – (49 : 7) =
	M

	(27 : 9 ) + 6 =
	K
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